S a2 EC & 9 0 9 A 20]1 /BAC = 30° & 0, /a 2
2717

@ 30° @ 40° ® 50° @ 60° © 70°



o3 183 o]l 274y ABCDE 7} ¢
O o sk /B = 110°, /D = 140°
d o, LAOE 9] 37]=2

® 100° @ 110° @ 120°

@ 130° ® 140°



3. The 22o]A] 5.0ptAB = 127 & 1, 9
09 = 9] Zdole?

® 287 @ 30n ® 327

@ 34rx ® 36n




i
oo
I
o
o
HE
Rl
N
oy
9!
o
1o
u
)
Hu
B
i)
e
P
o
-
_O|L
1)
2

@® 116° @ 126° ® 136° @ 146° ® 156°



5. oS 2™l /BOC = 90°, ZAQC = 60°
d o, /APB 2] 27|19

D 15° @ 20° 3 25°
@ 30° ® 35°




thS o)A oABCD = € O o YA
3t /DPC = 38°, /BQC = 40° & o,
/BOD 9] 3712

@® 78° @ 82° ® 90° @ 98° ® 102°



2 % DABCD 7+ 9] WAsks 257} obd 2127

@O /A =/C

@ (B=/C,AD//BC
® (BAC = /BDC

@ /A+/C=180°

® AC ¢ BD 9] 23 o] tiste] PAx PC = PBxPD



7N\ N
8. the 18oA 5.0ptAD = 5.0ptCE ©]1, A
/AOB = 128° & wf, /DFB °] 27]=? D

-

[N

A—>B
c~,._/
E

® 52° @ 56° ® 60° @ 64° ® 68°



9.

8 1383 Zo] LADB = /BDC ©] 1L
AD = 6,DE =2, CD = 3 9 o], EB
o] Aol=?

D3v2 @3v3 @5

@ 7 ® 11

A




